
Medidas de Ćırculos (G)

Calcule las medidas de cada ćırculo usando las medidas dadas.

d=8.6 ft

radio =

diámetro = 8.6 ft

circunferencia =

área =

r=8.6 ft

radio = 8.6 ft

diámetro =

circunferencia =

área =

A=128.68 ft2

radio =

diámetro =

circunferencia =

área = 128.68 ft2

C=33.301 cm

radio =

diámetro =

circunferencia = 33.301 cm

área =
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Medidas de Ćırculos (G) Respuestas

Calcule las medidas de cada ćırculo usando las medidas dadas.

d=8.6 ft

radio = 4.3 ft

diámetro = 8.6 ft

circunferencia = 27.018 ft

área = 58.088 ft2

r=8.6 ft

radio = 8.6 ft

diámetro = 17.2 ft

circunferencia = 54.035 ft

área = 232.352 ft2

A=128.68 ft2

radio = 6.4 ft

diámetro = 12.8 ft

circunferencia = 40.212 ft

área = 128.68 ft2

C=33.301 cm

radio = 5.3 cm

diámetro = 10.6 cm

circunferencia = 33.301 cm

área = 88.247 cm2
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